MAY 2013 U/ID 46436/UCCF

Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.
All questions carry equal marks.

1. Define Process.

Qaweoum(h — euenFuwim.
2. What is threat?
DNEGMSSHED GTETMITED GTEI 60T ?
3. What is internal fragmentation?
26T GIGTL_MTSHGLD GTEITMTE) GTEIT60T?
4, Define thrasing.
SCrfmi — euenyuim.

5.  What do you mean by preemtive scheduling?
Asrés Hlow stowopiubsgsd upd § ifbss
wing)?

6. What is segmentation?

Ce&L@TCL 6T TRTMITE GTCITEN?



10.

11.

12.

13.

What is software?

QLoeTOl LIT(HET 6TemLIg) WITg)?
Mention any three jump instructions.
TSTOUZ| (PETM STELD SLLanersemar &ML [Hs.

Differentiate program counter and stack pointer.
Sl eramremtl OMID VLTS LmuderT T ydlwieuhenn
Caumu(hds)s.

What is the addressing capacity of 8 — bit
microprocessor.

8 19 memQawpunmbidler i Fmg sULTSH L iy eTeme?
What is segmented paging?
Qggwant_(h CLgin eremmTed cremmen?

Define Encryption.

erendlfliger — cuenyuim.
PART B — (5 x 6 = 30 marks)
Answer any FIVE questions.

All questions carry equal marks.

Discuss on Batch processing.

Guish Geweoumpaser Ll efle.
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14.

15.

16.

17.

18.

19.

Describe the process life cycle.
QEweum’iq6r euTpsens SHpHFlepw efleur.
How to detect deadlock?

Qewewmnm Hleneenw ereueumm et (g LILimii?

Explain Dynamic memory allocation memory
management system.

Quiigh Hloaeus @HsEH  Cuoeraren LD
ellend@s.

Explain the General purpose registers used in
8085 micro processor.

8085 mianrGlawipurmiSlen 2 erer Gurg Crré@ Lsalger
Ul eflerd .

Write an Assembly Language program to add two
8 bit number.

@rar(® 8- bit  crawmsmer gl (Heusn@ iFbldar
Qumduie opemens CsTEGLUL| 6T(LPGIs.

Write a note on

(a) RAM
) ROM
GDILL erpg)
(1) pmb

(=) Gpmbd
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20.

21.

22.

23.

24.

25.

PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.
All questions carry equal marks.
Explain any two CPU scheduling algorithm.

LWEFFLIOS L eUETIUSSHID  Ligll  LilqUimer
pernHulled Tl @ remenl eNemd@s.

Discuss how Banker's algorithm is used to avoid
deadlock.

Qewenm Hlaoamw seilflugnars CUmisTey Lig il
(PpepmEn W eTeleUTm LweaTU(hSEIelg) eTarliens edleur.

Explain the critical section problem.

Siflgs6 Cgsgen Ly eflerss,.

Discuss data transfer instructions.

7| LIHD S Lemearsaer adlalfl.

Explain the block diagram of 8085 microprocessor.

8085 mewr Qewpurmdler eumTULSMS UMTHII
ellend@s.

Write an Assembly language program to add two
BCD numbers.

@ram@® BCD eaamseamer gl (Deugsn@ &bl
Qumduie opemens CsTELUL| 6T(pgIs.
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